HEEER X 31— b |Fﬁfﬂm‘%| AL

KRMIRSE SEILLEREBRT BHUT  FBERFT
o TERFITENERERIIABGHRIONTE, BEONSNELOELEELTIS)

EONIEIR FERZZZRUEEZBDINR NARRE - BRE - ENEDIR FETDIRR
TiIEH DH2AE HERDEDE EME : TETAERR60%ALE . BRIFAFE5%LLE PARSELE (69T  SH4FE B : 70%L0E FUES (RIFH)  TH30- D4 FiH GiEATL)
AR | RPN | AL | 2 AR | RAIREL | e er] L | 268 [BadAR AR | IRPIREL | REPTER 26
B 81.0 16 81.0 815 EEEES 356 15 35.6 35.5 36.4 511 BhA 58 30 58 3.1 B
33 87.2 20 87.4 87.6 S 4FE 36.5 17 36.5 36.9 37.5 55.4 FBATA 75 30 75 157 1.4% zofthn
B EE 37.9 9 37.9 38.2 38.2 56.0 KB A 6.7 30 6.7 6.3 - e
fEES(EHEEMENETL TV BHIMOTY) SH2E FEhA 118 29 118 7.0 — \ 23.8%
FIRRILT | JRPINRRL | AR HERDEMRECLBEERIN (40~745) DHSEE ARA 12.7 30 2.7 95 row T
B 795 16 796 I— AR | LR | 26 B0 AE - \ N
£ 839 23 84.1 IR S 22.6 21.9 22.1 386 NABRSEEREELE D3 FE ERME : 90% k 108%_ 3 / LR (I
T 6.5 52 59 159 AR | TP | AL | 2 - FEREERRC)
A (N) 1R300 ED B 55.5 56.3 56.7 71.2 B A(XR) 61.1 18 81.6 81.4 S 16.4%
AR | w22 | P27 | om2 SEBBRL T 62.9 64.7 615 82.6 ThA 78.1 20 83.1 82.7 JR—— 9%%:/:/&6/ Bkt
[ 370,364] 364,154 356,729 BEKE B 2.4 754 70.9 35.7 B 68.9 6 68.4 68.9 = KR | e 74%
BE | 174,104| 171,215 167,947 i 136 131 119 171 FEIA 90.4 i1 86.4 77.6 1.3% 1.2% o
ZE | 196,260] 192,939] 188,782 ZERE [3ALL |BE 74 39 75 538 A 50.9 9 50.2 50.7 5:8%
[2aNE|&E 4.6 32 4.1 7.6 0~64ROTEDS 5ZVEB (T30 - HHI4LEE)
F3RHAOL KGRI AFEUN. MRy 1ANEDERE (HENER) (F)  DH4EE 1 |BEn
0% 20% 40% 60% 80% 100% HERDEHMRE SIS FE AR | RPN | AL | & oM e (BIEER<)
AR | R | 26 PG 162,230 18| 155,449 153,304 S |Ew
gwm k27 PENINNGNSEEI 293 X [ 21.7 20.5 20.5 NS 225,500 21| 216,089 214,046
P, a—rm B 36.6 335 328 S MR (T30 -4 ) * QS 4 5
- T 114 105 112 EREES (BETHER - GHE0NE) S5 6% B AR | G Er] AR
LS SH2 s 334 X GRFAREE [ 11.0 11.2 11.0 0% 20% 40% 60% 80% 100% FETFod 106.5 106.5 105.5
3 18.3 18.4 17.7 t - - - - ’ BETED 109.7 109.7 105.3
2@ o2 2H ST 25 =& 59 56 6.0 AL 558 7.0 Rl [0 586355 181 BhA 1132 1132| 1057
ISHERIE = 15~648% = 65HML L RSETEERR (EHEE) P EWX e
" Lo ¢ SHEMRERR (FifHE)  SHSEE BhA 111.7 111.7 103.3
T A FRLIR I o7 [ 5651 760050 100 TRE BOEEREERS 1203] 1203 117.6
ERBIAEERLL (HH24F) BMI UL |BE 356 334 338 BECHRE 1485| 1485| 1368
T 9.9 9.7 213 = EREROBE = i ORE 101.1 101.1 105.3
0% 20% 40% 60% 80% 100% TR 85cmBlE |2 0.8 573 557 " HEERORE * BEERRURSERORE WIERE 72.0 72.0 87.4
S0cmBLE |G 8.8 178 191 = BRIBEIERORE * . BERUTOMOSREORE TR 88.4|  884| 927
Sy, RERUIRE RGTHONE
LAk | 74.7 FbATc  |5.6%NE |3 71.9 62.1 59.9 ERORE ZotboRS BRZ 1049] 1049] 1137
i 73.7 62.0 58.8 Z8 107.5 107.5 117.8
e E IR 69.4 TRAERBIE | 130mmHg |B1E 54.4 52.6 49.4 BENERER HU4EFE TTE AR | PPy | AT |
2 ZiE 49.0 47.9 45.0 AT [ BAIRE [ FERLE 2E TETHER 106.1 106.1 104.5
28 72.8 HDLIL X [40ma/di | BT 52 5.9 71 [ 239] 26 | 21.9] 19.0] BN 102.6]  102.6 97.5
FO-L |Fis T 0.8 11 12 BhA 99.2 992 1015
R LRER WE2RER -E3INER ENERERERS S5 EE WA A 1i54| 1i5.4| 1086
FERMMENREE  BEME : HEIAER60%M L TR 5 [EE 2 E % KA A 90.6 90.6 914
S (A gL FIRRT | RPN | GepemnEro] AR | 6 i EI) TER (BB ER<) 112.6] 112.6] 113.7
S EE 7.5 28 75 20.7 27.9 2 BECHRE 1224| 122.4| 1198
(R SMAEE 26.0 17 26.0 27.9 28.8 3 AR 1125 1125|1127
4,000 i 32.4 0 324 28.2 29.1 TMEAS 81.2 81.2 87.0
TS A 1HRST DN (F) SIS EE [ 84.0 84.0 91.9
3,000 AL | R | AR | 26 BAE 133.6 1336 123.9
[ 54.413] 1| 60,774] 59,499 == 120.0 120.0 117.6
2,000 BRLBL  hEEr BRICEL : REw
1,000 =, 3 = .=
fE2EMRERIR (FFHAE - E%(ktt) |NMSFE £E=100 SREEDERD BN S MR
0 0 |35
W17 FA22 W27 B2 wE 120 0 RELETLE (SMR)
E:103 120 it
LA N L) ) HOLILAS O, RMERE S MR BUFEMS MR
HDLILZFO-)b N . BB 2 AL i i
(N 208 RE3EBUL ELES:
5,000 s678 3,941 4,285 4,328
4,000 '
3,000
. BUIMERE S MR LEES MR
, AREAE N B Bt
1,000 13fff£§i BMI25HE 130mmHgBLE Bl TSI .
0 — T e AT e
TH17  TR22  TR27 SR === AR === AFE WRBSMR om
HbA1c5.614 | =E HbA1c5.6 L 2E ot




